Manipulating Negative Quadratics

Factorise: ; (q) (5 ’x)(3+x>
<:> i+2x—x2 (&) (5+c)3-2c)
B e e (c) (5-2c)2+c)

(¢) 10+ 3x—x?

@ 1049%- (ay (10-c)( 1)
(e) 36+ 9x —x2 (e} (Q-:x‘.}(&"rx)
®  3%-160-2 (E) 1%+ %X 2- )
Complete the square: (a‘> %—(:)C,—\)l
(@) 794 2% %t (b) 1\ _.(:)C.+\>2‘
(b) 10—2x—x? (C) 2,\ __(3:_3>2_
(¢) 12+ 6x—x? (d)A‘O—(x-‘\'5>l
(d) 15-—10x — x? ~
() 14+3x-x? (&) ﬁ;} _(x_§:__>
() 9—5x—x? (F) %_(x+%‘>2-

| Factorise: (a> (3_:£X \+2x>

(a) 3 + 5x — 2x?
(b) 3 -—5x-—2x?
| (©) 5 —9x — 2x?

(o) (34 X1 -2¢)
(o) (5+oc)1-22)

| (&) 10-x-242 (d) (5+ 2DC>(2-3C->
Write in the format ¢ — a(x + b)? (0\> lO - 2<DC.—I>2
(a) 8+ 4x—2x? (b) 1q_2(x+2>2
(b) 11— 8x — 2x? <C—) ,‘5_3(3C__l>2..

(c) 12+ 6x —3x?
(d) 5-—12x —3x?

(d) 11 -3(x+2)*




